——
hﬁ\\

OBC

Oskoyi Ballbearing Company

Crossed Roller Stages (Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy
Crossed Roller Stages (Feeding Screw Design) | 120*120

MX120-AC-18 MX120-AS-18

MY120-AC-18 MY120-AS-18

Unit : mm
Movement
Model No Table Axis Feed Travel Per Knob Straightness PI\_Iloo:c/j?rl])Ie Weight Material Surface
| Size Position | Stroke | Rotation | Accuracy 91 (kg Finish
(um) (um) (kgf)
MX120-AC-18 Central
MX120-AS-18 X 20 16
N - I e .
120*120 +12.5 50 3 Aluminum | Black
MY120-AC-18 Central alloy | anodized
XY-axis 18.4 3.2
MY120-AS-18 Side

@ site : www.10BC.com (021) 33913364 - 33951660 : wili &)

R4 Email : Borhan772000@yahoo.com (021) 33985603 : u~S3 P4




7

1R

OBC

Oskoyi Ballbearing Company

Crossed Roller Stages (Feeding Screw Design) © X-Axis and XY-Axis © Aluminum Alloy

Crossed Roller Stages (Feeding Screw Design) | 120*120

MX120-AC-18 MX120-AS-18
50 50 50 50
45 45 45 45
SOl M85 & | &
25125 20-M4x0.7 25|25 20-M4x0.7
P i
0K @ ‘oo e
] 8 O 5 ‘e © 96 .3‘ E ee | 2 8
2788 : = g8~
] % Q © ee ® e‘ : Qes @ eQ © Q %
0120 PS1RC-25 0120 PS1RC-25
o o
™ ®,
o 4-95
‘ 100 ‘ ©8*4.5L
@ E
o) o o
o
€
MY120-AC-18 5 MY120-AS-18
50 __ 50 MX(Y)120-A-18 0 50
45 45 Mounting Dimensions 45 45
35 | 35 35 | 35
2525 20-M4x0.7 25|25 20-M4x0.7
O i
ol J
@, fc]
© & @ =4
3 2 vl 4 — wf 3 3 °
Ol o o e—@m N
—] [Te) g &l g
ol o © ("5’, N N e & o © ﬁ o
ol v ¥ E @ ° ° 5
N -] o ®
N
- L ed e
0120 0120
b PS1RC-25
§ 8 OB 7 8
— I

==

\“’-‘

D site : www.10BC.com

P2 Email :

(021) 33913364 - 33951660 : walsi ¢J

Borhan772000@yahoo.com

(021) 33985603 : xS B




	Page 65
	Page 66

